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    SAMPLE PAPER-2 
2009 

xÉÇxM×üiÉqÉç {xÉqmÉëåwÉhÉÉkÉÉËUiÉqÉç}xÉÇxM×üiÉqÉç {xÉqmÉëåwÉhÉÉkÉÉËUiÉqÉç}xÉÇxM×üiÉqÉç {xÉqmÉëåwÉhÉÉkÉÉËUiÉqÉç}xÉÇxM×üiÉqÉç {xÉqmÉëåwÉhÉÉkÉÉËUiÉqÉç}    

COMMUNICATIVE SANSKRIT 
    AuÉÍkÉÈ : WûÉåUÉ§ÉrÉqÉçAuÉÍkÉÈ : WûÉåUÉ§ÉrÉqÉçAuÉÍkÉÈ : WûÉåUÉ§ÉrÉqÉçAuÉÍkÉÈ : WûÉåUÉ§ÉrÉqÉç                 CLASS- X                                                                mÉÔhÉÉïƒ¡ûÈ : mÉÔhÉÉïƒ¡ûÈ : mÉÔhÉÉïƒ¡ûÈ : mÉÔhÉÉïƒ¡ûÈ : 100100100100    
 Time allowed: 3 hours                   Maximum Marks: 100 

ZÉhQûÈ Mü : AmÉÌPûiÉÉÇzÉZÉhQûÈ Mü : AmÉÌPûiÉÉÇzÉZÉhQûÈ Mü : AmÉÌPûiÉÉÇzÉZÉhQûÈ Mü : AmÉÌPûiÉÉÇzÉ----AuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉç                    15 Marks 

Section A: Unseen Reading Comprehension      

ZÉhQûÈ ZÉ : UcÉlÉÉiqÉMüZÉhQûÈ ZÉ : UcÉlÉÉiqÉMüZÉhQûÈ ZÉ : UcÉlÉÉiqÉMüZÉhQûÈ ZÉ : UcÉlÉÉiqÉMü----MüÉrÉïqÉçMüÉrÉïqÉçMüÉrÉïqÉçMüÉrÉïqÉç                        20 Marks 

Section B: Writing Skills  

ZÉhQûÈ aÉ : ZÉhQûÈ aÉ : ZÉhQûÈ aÉ : ZÉhQûÈ aÉ : AlÉÑmÉërÉÑ£üAlÉÑmÉërÉÑ£üAlÉÑmÉërÉÑ£üAlÉÑmÉërÉÑ£ü----urÉÉMüUhÉqÉçurÉÉMüUhÉqÉçurÉÉMüUhÉqÉçurÉÉMüUhÉqÉç           30 Marks 

Section C: Applied Grammar 

ZÉhQûÈ bÉ : mÉÌPûiÉZÉhQûÈ bÉ : mÉÌPûiÉZÉhQûÈ bÉ : mÉÌPûiÉZÉhQûÈ bÉ : mÉÌPûiÉ----AuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉç                  35 Marks 

Section D: Reading Comprehension  
Instructions:   

ÌlÉSåïzÉÉÈÌlÉSåïzÉÉÈÌlÉSåïzÉÉÈÌlÉSåïzÉÉÈ----        
i. AÎxqÉlÉç mÉëzlÉmÉ§Éå cÉiuÉÉUÈ ZÉhQûÉÈ xÉÎliÉ |AÎxqÉlÉç mÉëzlÉmÉ§Éå cÉiuÉÉUÈ ZÉhQûÉÈ xÉÎliÉ |AÎxqÉlÉç mÉëzlÉmÉ§Éå cÉiuÉÉUÈ ZÉhQûÉÈ xÉÎliÉ |AÎxqÉlÉç mÉëzlÉmÉ§Éå cÉiuÉÉUÈ ZÉhQûÉÈ xÉÎliÉ |    

The question paper has four sections. 

ii. mÉëÌiÉZÉhQûqÉç E¨ÉUÉÍhÉ mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ sÉåZÉlÉÏrÉÉÌlÉ |mÉëÌiÉZÉhQûqÉç E¨ÉUÉÍhÉ mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ sÉåZÉlÉÏrÉÉÌlÉ |mÉëÌiÉZÉhQûqÉç E¨ÉUÉÍhÉ mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ sÉåZÉlÉÏrÉÉÌlÉ |mÉëÌiÉZÉhQûqÉç E¨ÉUÉÍhÉ mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ sÉåZÉlÉÏrÉÉÌlÉ |    
The answers have to be written in a separate answer-sheet. 

iii. mÉëirÉåMÇü ZÉhQûqÉç AÍkÉM×üirÉ E¨ÉUÉÍhÉ LMüÎxqÉlÉç xjÉÉlÉå ¢üqÉåhÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëirÉåMÇü ZÉhQûqÉç AÍkÉM×üirÉ E¨ÉUÉÍhÉ LMüÎxqÉlÉç xjÉÉlÉå ¢üqÉåhÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëirÉåMÇü ZÉhQûqÉç AÍkÉM×üirÉ E¨ÉUÉÍhÉ LMüÎxqÉlÉç xjÉÉlÉå ¢üqÉåhÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëirÉåMÇü ZÉhQûqÉç AÍkÉM×üirÉ E¨ÉUÉÍhÉ LMüÎxqÉlÉç xjÉÉlÉå ¢üqÉåhÉ sÉåZÉlÉÏrÉÉÌlÉ |    
The answers to each section must be written at one place. 

iv. mÉëzlÉmÉ§Éå E¨ÉUÉÍhÉ lÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëzlÉmÉ§Éå E¨ÉUÉÍhÉ lÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëzlÉmÉ§Éå E¨ÉUÉÍhÉ lÉ sÉåZÉlÉÏrÉÉÌlÉ |mÉëzlÉmÉ§Éå E¨ÉUÉÍhÉ lÉ sÉåZÉlÉÏrÉÉÌlÉ |    
Don’t answer in the question paper. 

v. mÉëzlÉxÉXçZrÉÉ mÉëzlÉmÉ§ÉÉlÉÑxÉÉUqÉç AuÉzrÉÇ sÉåZÉlÉÏrÉÉ |mÉëzlÉxÉXçZrÉÉ mÉëzlÉmÉ§ÉÉlÉÑxÉÉUqÉç AuÉzrÉÇ sÉåZÉlÉÏrÉÉ |mÉëzlÉxÉXçZrÉÉ mÉëzlÉmÉ§ÉÉlÉÑxÉÉUqÉç AuÉzrÉÇ sÉåZÉlÉÏrÉÉ |mÉëzlÉxÉXçZrÉÉ mÉëzlÉmÉ§ÉÉlÉÑxÉÉUqÉç AuÉzrÉÇ sÉåZÉlÉÏrÉÉ |    
Write the question number according to the question paper. 

vi. xÉuÉåïwÉÉÇ mÉëzlÉÉlÉÉqÉç xÉuÉåïwÉÉÇ mÉëzlÉÉlÉÉqÉç xÉuÉåïwÉÉÇ mÉëzlÉÉlÉÉqÉç xÉuÉåïwÉÉÇ mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ xÉÇxM×üiÉålÉ sÉåZÉlÉÏrÉÉÌlÉ |E¨ÉUÉÍhÉ xÉÇxM×üiÉålÉ sÉåZÉlÉÏrÉÉÌlÉ |E¨ÉUÉÍhÉ xÉÇxM×üiÉålÉ sÉåZÉlÉÏrÉÉÌlÉ |E¨ÉUÉÍhÉ xÉÇxM×üiÉålÉ sÉåZÉlÉÏrÉÉÌlÉ |    
Answer all the questions in “SANSKRIT”. 

              

                        
                    ZÉhQûÈ MüZÉhQûÈ MüZÉhQûÈ MüZÉhQûÈ Mü    (Section A) 

                                                AmÉÌPûiÉÉÇzÉAmÉÌPûiÉÉÇzÉAmÉÌPûiÉÉÇzÉAmÉÌPûiÉÉÇzÉ----AuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉç    
                                         Unseen Reading Comprehension          15 Marks 

1. AkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉ----AlÉÑcNåûS²rÉÇ mÉÌPûiuÉÉ mÉëS¨ÉmÉëzlÉÉlÉç mÉ×jÉMçü mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉqÉç E¨ÉUiÉ :AlÉÑcNåûS²rÉÇ mÉÌPûiuÉÉ mÉëS¨ÉmÉëzlÉÉlÉç mÉ×jÉMçü mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉqÉç E¨ÉUiÉ :AlÉÑcNåûS²rÉÇ mÉÌPûiuÉÉ mÉëS¨ÉmÉëzlÉÉlÉç mÉ×jÉMçü mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉqÉç E¨ÉUiÉ :AlÉÑcNåûS²rÉÇ mÉÌPûiuÉÉ mÉëS¨ÉmÉëzlÉÉlÉç mÉ×jÉMçü mÉëS¨ÉÉrÉÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉqÉç E¨ÉUiÉ :    
    Read the following two passages and answer the questions in the given answer-sheet: 

    
(Mü)  (Mü)  (Mü)  (Mü)  mÉëjÉqÉÈ AlÉÑcNåûSÈmÉëjÉqÉÈ AlÉÑcNåûSÈmÉëjÉqÉÈ AlÉÑcNåûSÈmÉëjÉqÉÈ AlÉÑcNåûSÈ    
  mÉÉhQûuÉÉlÉÉÇ uÉlÉuÉÉxÉÉ¥ÉÉiÉuÉÉxÉrÉÉåÈ AlÉliÉUÇ rÉSÉ iÉåwÉÉÇ M×üiÉå AkÉïUÉerÉSÉlÉÌuÉwÉrÉå xÉlkÉÉlÉÉrÉ 

´ÉÏM×üwhÉÈ SÒrÉÉåïkÉlÉxrÉ xÉpÉÉÇ mÉëÌiÉ aÉcNûÌiÉ | iÉ§É SÒrÉÉåïkÉlÉÈ M×üwhÉxrÉ LMüqÉÌmÉ uÉcÉlÉÇ lÉÉ…¡ûÏMüUÉåÌiÉ | M×üwhÉxrÉ AuÉqÉÉlÉÇ 
M×üiuÉÉ iÉxrÉ oÉlkÉlÉÉrÉ mÉërÉiÉiÉå | iÉSÉ ¢Ñü®È M×üwhÉÈ xuÉÉrÉÑkÉÇ xÉÑSzÉïlÉcÉ¢üqÉç AÉqÉl§rÉ SÒrÉÉåïkÉlÉÇ WûliÉÑqÉç AÉÌSzÉÌiÉ | 
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mÉUliÉÑ LuÉÇMüUhÉålÉ ´Éå¸xrÉ AÉrÉÑkÉxrÉ zÉÌ£üÈ urÉjÉÉï pÉÌuÉwrÉÌiÉ CÌiÉ xÉÑSzÉïlÉxrÉ mÉÉUÉqÉzÉïÇ ´ÉÑiuÉÉ ´ÉÏM×üwhÉÈ xuÉÉSåzÉÇ 
xjÉaÉrÉÌiÉ | 

mÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈ----        

I. LMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉ    :  

Answer in one word:         1 x 2 = 2 

i. MüjÉÇpÉÔiÉÈ M×üwhÉÈ xÉÑSzÉïlÉqÉç AÉqÉl§ÉrÉÌiÉ ?  

ii. MüÈ M×üwhÉxrÉ LMüqÉÌmÉ uÉcÉlÉÇ lÉÉ…¡ûÏMüUÉåÌiÉ? 

II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :    
Answer in complete sentence:        2 x 1 = 2 

i. ÌMüqÉjÉïÇ M×üwhÉÈ SÒrÉÉåïkÉlÉxrÉ xÉpÉÉÇ aÉcNûÌiÉ ?  

III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :    
  Do as directed:                       ½ x 2 = 1 

i. ‘AÉrÉÑkÉxrÉ’ CÌiÉ mÉSxrÉ ÌuÉzÉåwÉhÉÇ ÍsÉZÉiÉ |  

ii. ‘lÉÉ…¡ûÏMüUÉåÌiÉ’ A§É xÉÎlkÉÈ xÉÇrÉÉåaÉÈ uÉÉ ?    

    

(ZÉ)  (ZÉ)  (ZÉ)  (ZÉ)  Ì²iÉÏrÉÈ AlÉÑcNåûSÈ Ì²iÉÏrÉÈ AlÉÑcNåûSÈ Ì²iÉÏrÉÈ AlÉÑcNåûSÈ Ì²iÉÏrÉÈ AlÉÑcNåûSÈ     
  ‘xÉÍcÉlÉç iÉåhQÕûsMüUç’ ÌuÉµÉ-Ì¢üMåüOèû-¤Éå§Éå CSÇ lÉÉqÉ lÉ¤É§ÉÍqÉuÉ UÉeÉiÉå | wÉÉåQûwÉiÉqÉå uÉrÉÍxÉ 

¢üÏQûÉrÉÉÈ AÉUqpÉÈ M×üiuÉÉ iÉSlÉliÉUÇ AÎxqÉlÉç ¤Éå§Éå oÉWÒû xÉÉÍkÉiÉuÉÉlÉç LwÉÈ | iÉxrÉ eÉlqÉ 1973 iÉqÉå uÉwÉåï ApÉuÉiÉç | 
iÉxrÉ ÌmÉiÉÉ UqÉåzÉç iÉåhQÕûsMüUç LMüÈ qÉUÉPûÏxÉÉÌWûÎirÉMüÈ AÉxÉÏiÉç | oÉÉsrÉÉiÉç LuÉ iÉxrÉ AÉxÉÌ£üÈ AxrÉÉÇ ¢üÏQûÉrÉÉqÉç 
AÉxÉÏiÉç | iÉxrÉ ÌmÉ§ÉÉåÈ xÉWûMüÉUåhÉ xÉÈ Ì¢üMåüOèû-¤Éå§Éå ÌuÉµÉmÉëÍxÉ®È ApÉuÉiÉç | xÉiÉiÉÇ mÉËU´ÉqÉÈ LuÉ iÉxrÉ ÍxÉ®åÈ 
MüÉUhÉqÉç | xÉuÉÉïÍkÉMüÉÌlÉ zÉiÉMüÉÌlÉ kÉÉuÉlÉÉƒ¡åûwÉÑ M×üiuÉÉ ÌuÉµÉå xÉuÉïmÉëjÉqÉxjÉÉlÉå oÉWÒûÌSlÉåprÉÈ ÌuÉUÉeÉqÉÉlÉÈ ÌuÉ±iÉå | 
MüÌmÉsÉç-SåuÉç, UÌuÉzÉÉx§ÉÏ, AeÉÂ¬ÏlÉç CirÉÉÌSÍpÉÈ xÉWû AÌmÉ ¢üÏÌQûiÉuÉÉlÉç | iÉjÉæuÉ qÉWåûlSìÍxÉÇaÉç kÉÉålÉÏ , rÉÑuÉUÉeÉç ÍxÉÇaÉç, 
CirÉÉÌSÍpÉÈ lÉÔiÉlÉæÈ rÉÑuÉMæüÈ xÉWûÉÌmÉ xÉÈ xÉqÉÉlÉxÉÉqÉjrÉåïhÉ ZÉåsÉlÉç xÉÈ pÉÉUiÉÏrÉrÉÑuÉMüÉlÉÉÇ M×üiÉå AÉSzÉïmÉëÉrÉÈ AÎxiÉ | 
rÉ±ÌmÉ iÉxqÉÉiÉç AlÉliÉUqÉç AÉaÉiÉÉÈ AÌmÉ ¢üÏQûÉrÉÉÈ ÌlÉuÉ×¨ÉÉÈ ApÉuÉlÉç iÉjÉÉÌmÉ A±ÉÌmÉ mÉÔuÉïxÉÉqÉjrÉåïhÉ xÉWû LuÉ ¢üÏQûlÉç 
AÎxiÉ | AaÉëå xÉÈ CiÉÉåÅmrÉÍkÉMÇü xÉÉkÉrÉiÉÑ CÌiÉ xÉuÉåïwÉÉqÉç CcNûÉ |    

    
mÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈ----        
I. LMümÉSålÉ E¨ÉUiÉ  LMümÉSålÉ E¨ÉUiÉ  LMümÉSålÉ E¨ÉUiÉ  LMümÉSålÉ E¨ÉUiÉ  ::::        
Answer in one word:                    ½ x 4 = 2    

i. iÉåhQÒûsMüUxrÉ lÉÉqÉ Ì¢üMåüOèû-¤Éå§Éå ÌMüÍqÉuÉ ÌuÉUÉeÉiÉå?   

ii. MåüwÉÉÇ M×üiÉå xÉÍcÉlÉç AÉSzÉïmÉëÉrÉÈ AÎxiÉ ? 

iii. UqÉåzÉç iÉåhQÕûsMüUç MüÈ AÉxÉÏiÉç ? 

iv. iÉåhQÕûsMüUxrÉ ÍxÉ®åÈ MüÉUhÉÇ ÌMüqÉç ? 
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 II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :    
Answer in complete sentence:        2 x 2 = 4    

i. MæüÈ xÉWû iÉåhQÕûsMüUç ¢üÏÌQûiÉuÉÉlÉç ? 

ii. MüjÉÇ xÉÈ ÌuÉµÉå Ì¢üMåüOèû-ÌMüQûÉrÉÉÇ xÉuÉïmÉëjÉqÉxjÉÉlÉå ÌuÉUÉeÉqÉÉlÉÈ AÎxiÉ ? 
 III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :        

Do as directed:                       ½ x 4 = 2 

i. AlÉÑcNåûSÉiÉç zÉÉlÉcmÉëirÉrÉÉliÉÇ mÉSqÉåMÇü ÍcÉiuÉÉ ÍsÉZÉiÉ | 

ii. ‘ÌuÉµÉmÉëÍxÉ®È’ AxrÉ xÉqÉÉxÉÌuÉcNåûSÇ MÑüÂiÉ | 

iii. ‘uÉrÉÍxÉ’ CÌiÉ mÉSxrÉ ÌuÉzÉåwÉhÉÇ ÍsÉZÉiÉ | 

iv. ‘xÉÉÍkÉiÉuÉÉlÉç’ AxrÉ mÉSxrÉ MüiÉ×ïmÉSÇ ÌMüqÉç ? 

    
IV. AxrÉ AlÉÑcNåûSxrÉ xÉqÉÑÍcÉiÉÇ ÍzÉwÉïMÇü ÍsÉZÉiÉ |AxrÉ AlÉÑcNåûSxrÉ xÉqÉÑÍcÉiÉÇ ÍzÉwÉïMÇü ÍsÉZÉiÉ |AxrÉ AlÉÑcNåûSxrÉ xÉqÉÑÍcÉiÉÇ ÍzÉwÉïMÇü ÍsÉZÉiÉ |AxrÉ AlÉÑcNåûSxrÉ xÉqÉÑÍcÉiÉÇ ÍzÉwÉïMÇü ÍsÉZÉiÉ |                     

       Write a suitable title for the above paragraph.      1 x 2 = 2 

    
    

ZÉhQûÈ ZÉhQûÈ ZÉhQûÈ ZÉhQûÈ –    ZÉZÉZÉZÉ    
(UcÉlÉÉiqÉMüsÉåZÉlÉqÉç )(UcÉlÉÉiqÉMüsÉåZÉlÉqÉç )(UcÉlÉÉiqÉMüsÉåZÉlÉqÉç )(UcÉlÉÉiqÉMüsÉåZÉlÉqÉç )    

    Section B: Writing Skills     
2. 2. 2. 2. AaÉëeÉålÉ AlÉÑeÉÇ mÉëÌiÉ AaÉëeÉålÉ AlÉÑeÉÇ mÉëÌiÉ AaÉëeÉålÉ AlÉÑeÉÇ mÉëÌiÉ AaÉëeÉålÉ AlÉÑeÉÇ mÉëÌiÉ ÍsÉÎZÉiÉqÉç AkÉÈ S¨ÉÇ mÉ§ÉÇ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÍsÉÎZÉiÉqÉç AkÉÈ S¨ÉÇ mÉ§ÉÇ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÍsÉÎZÉiÉqÉç AkÉÈ S¨ÉÇ mÉ§ÉÇ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÍsÉÎZÉiÉqÉç AkÉÈ S¨ÉÇ mÉ§ÉÇ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |    
      Complete and rewrite the letter with the help of the words given in the box.                     ½ x 10 = 5  

           
                                        1.             
             eÉrÉmÉÑUqÉç 
          10-12-2008 
ÌmÉërÉ 2.      
  eÉlqÉÌSlÉxrÉ 3.    | 
 AWÇû iÉuÉ eÉlqÉÌSlÉÉåixÉuÉÉxÉUå 4.    lÉ zYlÉÉåÍqÉ | mÉ§É²ÉUÉ AÎxqÉlÉç AuÉxÉUå iÉuÉ 5.    
xÉuÉï§É ÍxÉÎ®È 6.    CÌiÉ AÉzÉÇxÉå | AuÉMüÉzÉå 7.    AÉaÉÍqÉwrÉÉÍqÉ | 
 8.   | 
          9.    
           UÉqÉÈ 
 
    
    
    
    

xÉÌuÉkÉå, 
 M×üwhÉÈ,  
 10.    
 aÉÑeÉUÉiÉç UÉerÉqÉç 

qÉWûÉUÉeÉNûÉ§ÉÉuÉÉxÉÈ,    zÉÑpÉÉzÉÇxÉÉÈ,  AlÉÑeÉ!, 
AWûqÉSÉoÉÉSè, aÉ×WûqÉç,  pÉÌuÉwrÉå, sÉprÉiÉÉqÉç, zÉÑpÉqÉxiÉÑ, 
EmÉxjÉÉiÉÑÇ, iÉuÉÉaÉëeÉÈ  
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3. 3. 3. 3. mÉÑxiÉYxrÉ AÉmÉhÉå mÉÑxiÉYxrÉ AÉmÉhÉå mÉÑxiÉYxrÉ AÉmÉhÉå mÉÑxiÉYxrÉ AÉmÉhÉå ²rÉÉåÈ ²rÉÉåÈ ²rÉÉåÈ ²rÉÉåÈ ÍqÉ§ÉrÉÉåÈ ÍqÉ§ÉrÉÉåÈ ÍqÉ§ÉrÉÉåÈ ÍqÉ§ÉrÉÉåÈ xÉqpÉÉwÉhÉqÉç xÉqpÉÉwÉhÉqÉç xÉqpÉÉwÉhÉqÉç xÉqpÉÉwÉhÉqÉç EÍcÉiÉmÉSæÈEÍcÉiÉmÉSæÈEÍcÉiÉmÉSæÈEÍcÉiÉmÉSæÈ    mÉÔUÌrÉiuÉÉ ÍsÉZÉiÉ |mÉÔUÌrÉiuÉÉ ÍsÉZÉiÉ |mÉÔUÌrÉiuÉÉ ÍsÉZÉiÉ |mÉÔUÌrÉiuÉÉ ÍsÉZÉiÉ |    
       Complete the following dialogue with the help of the statements given in the box and      

      rewrite  in   your answer-sheet:                  1  x 5 = 5 
   
qÉrÉÔUÈ- mÉëpÉuÉ! LiÉiÉç 1.   mÉzrÉ | 
mÉëpÉuÉÈ- ÌMÇü mÉÑxiÉMüqÉç LiÉiÉç | 
qÉrÉÔUÈ- SzÉqÉMü¤ÉÉrÉÉÈ 2.   AprÉÉxÉmÉÑxiÉMüqÉç | 3.   LiÉiÉç | 
mÉëpÉuÉÈ- mÉUliÉÑ 4.  xÉqÉÏmÉå LMÇü mÉÑxiÉÉMüqÉÎxiÉ ÌMüsÉ | 
qÉrÉÔUÈ – AÎxiÉ, mÉUqÉç mÉzrÉ A§É 5.   AprÉÉxÉÉÈ S¨ÉÉÈ | rÉÌS AÍkÉMüqÉç 6.   MÑüqÉïÈ mÉUÏ¤ÉÉrÉæ   
        EmÉrÉÉåaÉÉrÉ pÉuÉÌiÉ | 

    mÉëpÉuÉÈ- iÉÌWïû 7.   AkrÉÉmÉMüÉåÅÌmÉ MüjÉrÉÌiÉ ‘xÉÇxM×üiÉå 8.  AprÉÉxÉÈ AÍkÉMüÈ pÉuÉåiÉç’  
    CÌiÉ | 

    qÉrÉÔUÈ – 9.  lÉ MåüuÉsÉÇ urÉÉMüUhÉÉÇzÉÉÈ, mÉÉPûÉlÉÉqÉÌmÉ 10.   xÉÎliÉ | 
  
 
 

 

4. mÉgcÉxÉÑ xÉÇxM×üiÉuÉÉYrÉåwÉÑ qÉgeÉÔwÉÉmÉgcÉxÉÑ xÉÇxM×üiÉuÉÉYrÉåwÉÑ qÉgeÉÔwÉÉmÉgcÉxÉÑ xÉÇxM×üiÉuÉÉYrÉåwÉÑ qÉgeÉÔwÉÉmÉgcÉxÉÑ xÉÇxM×üiÉuÉÉYrÉåwÉÑ qÉgeÉÔwÉÉ----mÉSmÉSmÉSmÉS----xÉWûÉrÉiÉrÉÉ AkÉÉåÍsÉÎZÉiÉÇ ÍcÉ§ÉÇ uÉhÉïrÉiÉ |xÉWûÉrÉiÉrÉÉ AkÉÉåÍsÉÎZÉiÉÇ ÍcÉ§ÉÇ uÉhÉïrÉiÉ |xÉWûÉrÉiÉrÉÉ AkÉÉåÍsÉÎZÉiÉÇ ÍcÉ§ÉÇ uÉhÉïrÉiÉ |xÉWûÉrÉiÉrÉÉ AkÉÉåÍsÉÎZÉiÉÇ ÍcÉ§ÉÇ uÉhÉïrÉiÉ |    
    Describe the following picture in five Sanskrit sentences with the help of words given in the box: 

2x 5 =10 

 

 

           

    
ZÉhQûÈ  aÉ ZÉhQûÈ  aÉ ZÉhQûÈ  aÉ ZÉhQûÈ  aÉ (Section C) 
    AlÉÑmÉërÉÑ£üurÉÉMüUhÉqÉçAlÉÑmÉërÉÑ£üurÉÉMüUhÉqÉçAlÉÑmÉërÉÑ£üurÉÉMüUhÉqÉçAlÉÑmÉërÉÑ£üurÉÉMüUhÉqÉç    
   Applied Grammar 

 

5. AkÉÉåÍsÉÎZÉiÉ5. AkÉÉåÍsÉÎZÉiÉ5. AkÉÉåÍsÉÎZÉiÉ5. AkÉÉåÍsÉÎZÉiÉ----uÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉuÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉuÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉuÉÉYrÉåwÉÑ UåZÉÉÌƒ¡ûiÉ----mÉSåwÉÑ xÉÎlkÉcNåûSÇ xÉÎlkÉÇ uÉÉ ÌuÉkÉÉrÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉSåwÉÑ xÉÎlkÉcNåûSÇ xÉÎlkÉÇ uÉÉ ÌuÉkÉÉrÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉSåwÉÑ xÉÎlkÉcNåûSÇ xÉÎlkÉÇ uÉÉ ÌuÉkÉÉrÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉSåwÉÑ xÉÎlkÉcNåûSÇ xÉÎlkÉÇ uÉÉ ÌuÉkÉÉrÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |    
      Rewrite the underlined words of the following sentences in your answer-sheet after joining or disjoining  

      Sandhis:           1 x 3 = 3  

 

 1.1.1.1.    ÌmÉërÉcNûÉ§ÉÉÌmÉërÉcNûÉ§ÉÉÌmÉërÉcNûÉ§ÉÉÌmÉërÉcNûÉ§ÉÉÈ ! 2. A± + AWqÉçA± + AWqÉçA± + AWqÉçA± + AWqÉç AÂhÉÉcÉsÉmÉëSåzÉxrÉ ÌuÉwÉrÉå uÉSÉÍqÉ | 3. AÉxÉ£üÉxxÉuÉåïAÉxÉ£üÉxxÉuÉåïAÉxÉ£üÉxxÉuÉåïAÉxÉ£üÉxxÉuÉåï ´ÉÔrÉliÉÉqÉç | 

xÉÇxM×üiÉÌuÉwÉrÉxrÉ,  ¢åüwrÉÉuÉÈ,  AxqÉÉMüÇ,  AprÉÉxÉÇ,  ¢åüwrÉÉuÉÈ,  urÉÉMüUhÉÉÇzÉÉlÉÉÇ,  
    mÉÑxiÉMÇü,  ÍpÉ³ÉÉÈ,  AÎxqÉlÉç, mÉëzlÉÉå¨ÉUÉÍhÉ,   

aÉ×WûÉÍhÉ, MÑüMçüMÑüUÈ, qÉÌWûsÉÉÈ, 
qÉÉaÉåï, xÉqpÉÉwÉhÉÇ MÑüuÉïÎliÉ, 
oÉÉsÉÈ, mÉuÉïiÉzÉ×„¡ûsÉÉÈ, EpÉrÉiÉÈ 
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6. AkÉÉåÍsÉÎZÉiÉ6. AkÉÉåÍsÉÎZÉiÉ6. AkÉÉåÍsÉÎZÉiÉ6. AkÉÉåÍsÉÎZÉiÉ----AlÉÑcNåûSå  UåZÉÉÌƒ¡ûiÉAlÉÑcNåûSå  UåZÉÉÌƒ¡ûiÉAlÉÑcNåûSå  UåZÉÉÌƒ¡ûiÉAlÉÑcNåûSå  UåZÉÉÌƒ¡ûiÉ----mÉSåwÉÑ mÉSåwÉÑ mÉSåwÉÑ mÉSåwÉÑ xÉqÉÉxÉxÉqÉÉxÉxÉqÉÉxÉxÉqÉÉxÉÌuÉaÉëWÇû M×üiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÌuÉaÉëWÇû M×üiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÌuÉaÉëWÇû M×üiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |ÌuÉaÉëWÇû M×üiuÉÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |    
      Disjoin the compounds in the underlined words and rewrite the paragraph in the answer-sheet:  1 x 4 = 4  

 

 1.    eÉaÉ³ÉÉjÉÈeÉaÉ³ÉÉjÉÈeÉaÉ³ÉÉjÉÈeÉaÉ³ÉÉjÉÈ    CÌiÉ ÌuÉwhÉÉåÈ AmÉUÇ lÉÉqÉ |  

 2. iÉÉUÉmÉÏQûÈ ÌuÉsÉÉxÉuÉiÉÏÇ M×üzÉÉåSËU !M×üzÉÉåSËU !M×üzÉÉåSËU !M×üzÉÉåSËU ! CÌiÉ xÉqoÉÉåkÉrÉÌiÉ | 
 3. mÉgcÉÉlÉÉÇ UÉ§ÉÏhÉÉÇ xÉqÉÉWûUÈmÉgcÉÉlÉÉÇ UÉ§ÉÏhÉÉÇ xÉqÉÉWûUÈmÉgcÉÉlÉÉÇ UÉ§ÉÏhÉÉÇ xÉqÉÉWûUÈmÉgcÉÉlÉÉÇ UÉ§ÉÏhÉÉÇ xÉqÉÉWûUÈ  CÌiÉ MüxrÉÍcÉiÉç MüÉurÉxrÉ lÉÉqÉ | 
 4. uÉ×¤ÉÈ TüsÉÉlÉÉÇ cÉ mÉÑwmÉÉhÉÉÇ cÉ mÉ§ÉÉhÉÉÇ cÉTüsÉÉlÉÉÇ cÉ mÉÑwmÉÉhÉÉÇ cÉ mÉ§ÉÉhÉÉÇ cÉTüsÉÉlÉÉÇ cÉ mÉÑwmÉÉhÉÉÇ cÉ mÉ§ÉÉhÉÉÇ cÉTüsÉÉlÉÉÇ cÉ mÉÑwmÉÉhÉÉÇ cÉ mÉ§ÉÉhÉÉÇ cÉ pÉÉUÇ uÉWûÌiÉ |       

 
7. 7. 7. 7. UåZÉÉÌ„¡ûiÉmÉSÉlÉÉÇ UåZÉÉÌ„¡ûiÉmÉSÉlÉÉÇ UåZÉÉÌ„¡ûiÉmÉSÉlÉÉÇ UåZÉÉÌ„¡ûiÉmÉSÉlÉÉÇ     mÉëM×üÌiÉmÉëM×üÌiÉmÉëM×üÌiÉmÉëM×üÌiÉ----mÉëirÉrÉÉlÉç mÉëirÉrÉÉlÉç mÉëirÉrÉÉlÉç mÉëirÉrÉÉlÉç ÌuÉpÉerÉ ÌuÉpÉerÉ ÌuÉpÉerÉ ÌuÉpÉerÉ AlÉÑcNåûSÇ mÉÑlÉÈ AlÉÑcNåûSÇ mÉÑlÉÈ AlÉÑcNåûSÇ mÉÑlÉÈ AlÉÑcNåûSÇ mÉÑlÉÈ ÍsÉZÉiÉ |ÍsÉZÉiÉ |ÍsÉZÉiÉ |ÍsÉZÉiÉ |    
    Rewrite the passage after disjoining suffixes of underlined words    :     1 x 5 = 5 

 

 1.  EixÉÉÌWûlÉÉÇEixÉÉÌWûlÉÉÇEixÉÉÌWûlÉÉÇEixÉÉÌWûlÉÉÇ ÌMüqÉÌmÉ AxÉÉkrÉÇ lÉ pÉuÉÌiÉ |  
2. eÉlÉÉlÉÉÇ xuÉÉpÉÉÌuÉMÇüxuÉÉpÉÉÌuÉMÇüxuÉÉpÉÉÌuÉMÇüxuÉÉpÉÉÌuÉMÇü xÉÉqÉjrÉïÇ xÉuÉïSÉ lÉ ¥ÉÉrÉiÉå | 
3. urÉÉbÉëÏ xuÉmÉÑ§ÉÉlÉç AuÉkÉÉlÉålÉ mÉÉsÉrÉÌiÉ | 
4. MüiÉïurÉMüiÉïurÉMüiÉïurÉMüiÉïurÉÇ MüqÉï qÉÑZrÉÇ pÉuÉÌiÉ | 
5. pÉÉUuÉiÉçpÉÉUuÉiÉçpÉÉUuÉiÉçpÉÉUuÉiÉç TüsÉÇ uÉ×¤ÉÉiÉç zÉÏbÉëÇ mÉiÉÌiÉ | 
  

8. A8. A8. A8. AkÉÉåÍsÉÎZÉiÉÉÇ iÉÉÍsÉMüÉqÉç EmÉrÉÑerÉ xÉÇxM×üiÉå mÉgcÉuÉÉYrÉÉÌlÉ UcÉrÉiÉ kÉÉåÍsÉÎZÉiÉÉÇ iÉÉÍsÉMüÉqÉç EmÉrÉÑerÉ xÉÇxM×üiÉå mÉgcÉuÉÉYrÉÉÌlÉ UcÉrÉiÉ kÉÉåÍsÉÎZÉiÉÉÇ iÉÉÍsÉMüÉqÉç EmÉrÉÑerÉ xÉÇxM×üiÉå mÉgcÉuÉÉYrÉÉÌlÉ UcÉrÉiÉ kÉÉåÍsÉÎZÉiÉÉÇ iÉÉÍsÉMüÉqÉç EmÉrÉÑerÉ xÉÇxM×üiÉå mÉgcÉuÉÉYrÉÉÌlÉ UcÉrÉiÉ     ||||    
      Frame five sentences using the words in following table:     1 x 5 =5 

    
    1.    urÉÉrÉÉqÉÈ Ì¢ürÉiÉå iÉÌWïû SåWûÈ SØRûÈ pÉuÉÌiÉ | 
 2. iuÉÇ    qÉqÉ aÉ×WûqÉç AÉaÉcNû | 
 3.    AÌuÉcÉÉËUiÉÇ MüqÉï lÉMüiÉïurÉqÉç | 
 4. lÉaÉUå    MüÉåsÉÉWûsÉÈ EimÉ³ÉÈ | 
 5. aÉÑÂÈ    MüUÉåÌiÉ ÍzÉwrÉÈ iÉqÉåuÉ AlÉÑxÉUÌiÉ |    
    
9. AkÉÉåÍsÉÎZÉiÉ9. AkÉÉåÍsÉÎZÉiÉ9. AkÉÉåÍsÉÎZÉiÉ9. AkÉÉåÍsÉÎZÉiÉ----uÉÉiÉÉïsÉÉmÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ E¨ÉUÉÍhÉ LuÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |uÉÉiÉÉïsÉÉmÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ E¨ÉUÉÍhÉ LuÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |uÉÉiÉÉïsÉÉmÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ E¨ÉUÉÍhÉ LuÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |uÉÉiÉÉïsÉÉmÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ E¨ÉUÉÍhÉ LuÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |    
    Fill in the blanks in the following dialogue and write the answers in the answer-sheet:   1 x 3 =3 

 

 UÌuÉÈ- ÌMüqÉjÉïÇ xÉÈ zÉÏbÉëÇ  ? 
 zÉzÉÏ -   lÉ kÉÉurÉiÉå, xÉÈ iÉjÉÉ urÉÉrÉÉqÉÇ MüUÉåÌiÉ | 
 UÌuÉÈ – ÌMüqÉjÉïÇ iÉålÉ    Ì¢ürÉiÉå ? 
 zÉzÉÏ- xuÉÉxjrÉÉrÉ | 
             

10.AkÉÉåÍsÉÎZÉiÉ10.AkÉÉåÍsÉÎZÉiÉ10.AkÉÉåÍsÉÎZÉiÉ10.AkÉÉåÍsÉÎZÉiÉ----mÉUÏ¤ÉÉxÉqÉrÉxÉÔcrÉÉqÉçmÉUÏ¤ÉÉxÉqÉrÉxÉÔcrÉÉqÉçmÉUÏ¤ÉÉxÉqÉrÉxÉÔcrÉÉqÉçmÉUÏ¤ÉÉxÉqÉrÉxÉÔcrÉÉqÉç    Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉmÉSåwÉÑ xÉqÉrÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉmÉSåwÉÑ xÉqÉrÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉmÉSåwÉÑ xÉqÉrÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉmÉSåwÉÑ xÉqÉrÉqÉç E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |     
    Here is the examination time table. Indicate the time in Sanskrit in the answer-sheet  
     in place of figures.          1 x 4 = 4 
    9:45- mÉUÏ¤ÉÉpÉuÉlÉÇ mÉëÌiÉ NûÉ§ÉÉhÉÉÇ aÉqÉlÉqÉç | 
 10:15- sÉåZÉlÉÉUqpÉÈ | 
 1:30 – xÉqÉÉmÉlÉqÉç | 
 2:00 – pÉuÉlÉÉiÉç aÉ×WûaÉqÉlÉqÉç | 

MüSÉÍcÉiÉç,  rÉjÉÉ, 
rÉÌS,   xÉWûxÉÉ, 
xÉuÉïjÉÉ 
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11.Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉ11.Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉ11.Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉ11.Aƒ¡ûÉlÉÉÇ xjÉÉlÉå xÉÇxM×üiÉ----xÉXçZrÉÉuÉÉcÉMüxÉXçZrÉÉuÉÉcÉMüxÉXçZrÉÉuÉÉcÉMüxÉXçZrÉÉuÉÉcÉMü----ÌuÉzÉåwÉhÉÌuÉzÉåwÉhÉÌuÉzÉåwÉhÉÌuÉzÉåwÉhÉ----mÉSÉÌlÉ mÉërÉÑerÉ E¨ÉUÉÍhÉ mÉSÉÌlÉ mÉërÉÑerÉ E¨ÉUÉÍhÉ mÉSÉÌlÉ mÉërÉÑerÉ E¨ÉUÉÍhÉ mÉSÉÌlÉ mÉërÉÑerÉ E¨ÉUÉÍhÉ     E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |     
      Replacing numerals with Sanskrit adjectives in the following sentences, write your   
       answers in the answer-sheet:                      ½ x 4 = 2  
 

    (1) uÉwÉåï   ( 12 ) qÉÉxÉÉÈ pÉuÉÎliÉ | qÉÉxÉå    (2) mÉ¤ÉÉæ     (30)  
 ÌSlÉÉÌlÉ cÉ pÉuÉÎliÉ | 

 
12.12.12.12.AkÉÉåÍsÉÎZÉiÉuÉÉYrÉÉlÉÉÇ xÉÇzÉÉåkÉlÉÇ M×üiuÉÉ uÉÉYrÉÉÌlÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | AkÉÉåÍsÉÎZÉiÉuÉÉYrÉÉlÉÉÇ xÉÇzÉÉåkÉlÉÇ M×üiuÉÉ uÉÉYrÉÉÌlÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | AkÉÉåÍsÉÎZÉiÉuÉÉYrÉÉlÉÉÇ xÉÇzÉÉåkÉlÉÇ M×üiuÉÉ uÉÉYrÉÉÌlÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ | AkÉÉåÍsÉÎZÉiÉuÉÉYrÉÉlÉÉÇ xÉÇzÉÉåkÉlÉÇ M×üiuÉÉ uÉÉYrÉÉÌlÉ mÉÑlÉÈ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |     
     Correct and rewrite the following sentences in the answer-sheet:     1 x 4 = 4 

 

 1. NûÉ§ÉæÈ mÉëÌiÉÌSlÉÇ mÉÉPûÉÈ mÉPûlÉÏrÉqÉçmÉPûlÉÏrÉqÉçmÉPûlÉÏrÉqÉçmÉPûlÉÏrÉqÉç |  
 2. oÉÑÎ®qÉÉlÉåMüÈ cÉiÉÑhÉÉïÇcÉiÉÑhÉÉïÇcÉiÉÑhÉÉïÇcÉiÉÑhÉÉïÇ qÉÔZÉæïÈ xÉWû lÉSÏÇ mÉëÌiÉ AaÉcNûiÉç | 
 3. rÉÔrÉÇrÉÔrÉÇrÉÔrÉÇrÉÔrÉÇ xÉuÉåï AlÉÑzÉÉxÉlÉÇ mÉÉsÉrÉliÉÑ | 
 4. AÌaÉëqÉuÉwÉåï ÌlÉuÉÉïcÉlÉqÉç ApÉuÉiÉçApÉuÉiÉçApÉuÉiÉçApÉuÉiÉç | 
   

    
ZÉhQûÈ  bÉZÉhQûÈ  bÉZÉhQûÈ  bÉZÉhQûÈ  bÉ    (Section D) 
mÉÌPûiÉmÉÌPûiÉmÉÌPûiÉmÉÌPûiÉ----AuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉçAuÉoÉÉåkÉlÉqÉç    

Reading Comprehension 

13131313.AkÉÉåÍsÉÎZÉiÉÇ aÉ±ÉÇzÉÇ, mÉ±ÉÇzÉÇ, lÉÉšÉÇzÉÇ cÉ mÉÌP.AkÉÉåÍsÉÎZÉiÉÇ aÉ±ÉÇzÉÇ, mÉ±ÉÇzÉÇ, lÉÉšÉÇzÉÇ cÉ mÉÌP.AkÉÉåÍsÉÎZÉiÉÇ aÉ±ÉÇzÉÇ, mÉ±ÉÇzÉÇ, lÉÉšÉÇzÉÇ cÉ mÉÌP.AkÉÉåÍsÉÎZÉiÉÇ aÉ±ÉÇzÉÇ, mÉ±ÉÇzÉÇ, lÉÉšÉÇzÉÇ cÉ mÉÌPûiuÉÉ mÉëS¨ÉûiuÉÉ mÉëS¨ÉûiuÉÉ mÉëS¨ÉûiuÉÉ mÉëS¨É----mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |mÉëzlÉÉlÉÉqÉç E¨ÉUÉÍhÉ E¨ÉUmÉÑÎxiÉMüÉrÉÉÇ ÍsÉZÉiÉ |        
     Read the following prose, poetry and drama passages and answer the given questions in the    

     answer-sheet:  

 aÉ±ÉÇzÉÈaÉ±ÉÇzÉÈaÉ±ÉÇzÉÈaÉ±ÉÇzÉÈ----    
        SÒ¹oÉÑÎ®È iÉÑ iÉrÉÉåÈ uÉÉiÉÉïÇ ´ÉÑiuÉÉ fÉÌOûÌiÉ LuÉ ¤Éå§ÉÇ aÉiÉÈ | iÉ§É AµÉijÉqÉÔsÉÇ ZÉÌlÉiuÉÉ iÉÇ xÉÑuÉhÉïMüsÉzÉÇ 
mÉëÉmiÉuÉÉlÉç | rÉSÉ xÉÈ iÉxrÉ AÉuÉUhÉqÉç AmÉxÉÉUrÉÌiÉ iÉSÉ pÉrÉƒ¡ûUqÉç LMÇü ÌuÉwÉkÉUÇ TÔüiMüÉUÇ MÑüuÉïliÉÇ mÉzrÉÌiÉ | pÉÏiÉÈ xÉÈ 
MüsÉzÉÇ mÉÑlÉÈ AÉuÉ×irÉ iÉÇ cÉ AÉSÉrÉ ÍqÉ§ÉxrÉ aÉ×WÇû xÉqÉÉaÉiÉÈ | xuÉÍqÉ§ÉÇ xÉmÉåïhÉ qÉÉUÌrÉiÉÑqÉç CcNûlÉç xÉ ÍpÉ¨ÉÉæ xÉÎlkÉÇ 
mÉëMüsmrÉ iÉlqÉkrÉiÉÈ MüsÉzÉÇ aÉ×WûÉprÉliÉUå Í¤ÉmiÉuÉÉlÉç | ÌuÉÍcÉ§ÉÉ ZÉsÉÑ SæuÉaÉÌiÉÈ | mÉÌiÉiÉÉiÉç MüsÉzÉÉiÉç oÉÌWûÈ ÌlÉaÉïirÉ 
ÌuÉwÉkÉUÈ iÉqÉåuÉ SÒ¹oÉÑÎ®Ç S¹uÉÉlÉç | MüsÉzÉmÉÉiÉlÉzÉoSålÉ mÉëoÉÑ®Éæ iÉÉæ SqmÉiÉÏ AÉ¶ÉrÉåïhÉ mÉëcÉÑUqÉÍhÉqÉÉÍhÉYrÉÉlÉÉqÉç AÉpÉrÉÉ 
pÉÉxÉqÉÉlÉÇ ÌlÉeÉaÉ×WÇû SØwOèuÉÉ mÉUxmÉUqÉç AuÉsÉÉåMürÉliÉÉæ ÎxjÉiÉÉæ | 

  mÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈmÉëzlÉÉÈ----        

I. LMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉ    : 
Answer in one word:                    ½ x3=1 ½  

  i. SæuÉaÉÌiÉÈ MüÐSØzÉÏ pÉuÉÌiÉ ? 

 ii. MüÈ SÒ¹oÉÑÎ®Ç S¹uÉÉlÉç ? 

    iii. ÌMÇü ZÉÌlÉiuÉÉ SÒ¹oÉÑÎ®È MüsÉzÉÇ mÉëÉmiÉuÉÉlÉç ?  

II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :    
Answer in complete sentence:                    1 x 2 = 2    

i. mÉëoÉÑ®Éæ iÉÉæ SqmÉiÉÏ MüÐSØzÉqÉç ÌlÉeÉaÉ×WqÉç AmÉzrÉiÉÉqÉç ? 
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III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :        
Do as directed:                   ½ x 3 = 1 ½  

i.  ‘xÉÈ ÍpÉ¨ÉÉæ _______’ A§É ‘xÉÈ’ CÌiÉ mÉSÇ MüxqÉæ mÉërÉÑ£üqÉç? 

ii. ‘zÉÏbÉëqÉç’ AxrÉ mÉrÉÉïrÉmÉSÇ aÉ±ÉÇzÉÉiÉç ÍcÉiuÉÉ ÍsÉZÉiÉ | 

iii. ‘pÉÉxÉqÉÉlÉqÉç’ A§É MüÈ mÉëirÉrÉÈ AÎxiÉ ?    
    
    
mÉ±ÉÇzÉÈmÉ±ÉÇzÉÈmÉ±ÉÇzÉÈmÉ±ÉÇzÉÈ----            

MüxrÉ uÉzÉå mÉëÉÍhÉaÉhÉÈ? xÉirÉÌmÉërÉpÉÉÌwÉhÉÉå ÌuÉlÉÏiÉxrÉ | 

        YuÉ xjÉÉiÉurÉqÉç? lrÉÉrrÉå mÉÍjÉ SØ¹ÉSØ¹sÉÉpÉÉžå || 
   

I. LMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉ    : 
 Answer in one word:                1 x 1 = 1 

i. ÌuÉlÉÏiÉxrÉ uÉzÉå MüÈ pÉuÉÌiÉ ? 

II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :     
  Answer in complete sentence:                 1 x 2 = 2 

i. MüÐSØzÉå mÉÍjÉ xjÉÉiÉurÉqÉç ? 

III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :    
Do as directed:                    1 x 2 = 2 

i. mÉ±ÉÇzÉÉiÉç ‘CÌlÉ’-mÉëirÉrÉÉliÉÇ mÉSÇ ÍcÉiuÉÉ ÍsÉZÉiÉ | 

ii. ‘lrÉÉrrÉå’ CÌiÉ mÉSÇ MüxrÉ mÉSxrÉ ÌuÉzÉåwÉhÉqÉç ?    
lÉÉšÉÇzÉÈlÉÉšÉÇzÉÈlÉÉšÉÇzÉÈlÉÉšÉÇzÉÈ-  
 
mÉrÉïOûlÉÉÍkÉMüÉUÏ-( kuÉÌlÉÌuÉxiÉÉUMürÉl§ÉxrÉ xÉqÉÏmÉÇ aÉiuÉÉ ) ÌmÉërÉcNûÉ§ÉÉÈ ! AÍpÉlÉlSlÉÇ pÉuÉiÉÉqÉç AÎxqÉlmÉëSåzÉå |  

  mÉëxÉÏSÉÍqÉ rÉiÉç pÉuÉliÉÈ AxrÉ UqrÉxrÉ mÉëSåzÉxrÉ ÌuÉwÉrÉå ¥ÉÉiÉÑqÉç AÌiÉ EixÉÑMüÉÈ | LiÉSjÉïÇ xjÉsÉÉlÉÉÇ    
  SzÉïlÉÉrÉ mÉëoÉlkÉÈ AÌmÉ uÉiÉïiÉå mÉUliÉÑ xÉqmÉëÌiÉ mÉëzlÉÉå¨ÉUqÉÉkrÉqÉålÉ pÉuÉiÉÉÇ ÎeÉ¥ÉÉxÉÉÇ zÉqÉÌrÉiÉÑqÉç CcNûÉÍqÉ |   
  mÉëjÉqÉÇ iÉÑ AWûqÉç LuÉ LMÇü mÉëzlÉÇ mÉ×cNûÉÍqÉ | AxrÉ mÉëSåzÉxrÉ lÉÉqÉ ‘AÂhÉÉcÉsÉÈ’ MüjÉÇ eÉÉiÉqÉç ?    
  AlÉÑqÉÏrÉiÉÉqÉç | 

ÌWûqÉÉÇzÉÑÈ- AWÇû ÍcÉliÉrÉÉÍqÉ rÉiÉç ‘AÂhÉÈ’ iÉÑ xÉÔrÉïxrÉ mÉrÉÉïrÉÈ | AxrÉ mÉëMüÉzÉÈ xÉuÉïmÉëjÉqÉqÉç CqÉÇ mÉëSåzÉÇ xmÉ×zÉÌiÉ |  
      AiÉÈ AÂhÉxrÉ mÉëSåzÉÈ AÂhÉÉcÉsÉÈ | 

mÉrÉïOûlÉÉÍkÉMüÉUÏ- zÉÉåpÉlÉqÉç | EÍcÉiÉqÉç E£üqÉç | ÌWûqÉÉÌSìiÉÑ…¡ûzÉ×…¡æûÈ xÉÑzÉÉåÍpÉiÉÉ xÉÔrÉÉåïSrÉpÉÔÍqÉÈ CrÉqÉç | AiÉÈ  
      AÂhÉÉcÉsÉÈ | AÎxqÉlÉç mÉëSåzÉå mÉgcÉÉÍkÉMüÉÈ lÉ±È mÉëuÉWûÎliÉ | ÌuÉmÉÑsÉÉ cÉ A§É uÉlÉxÉÇmÉSÉ | uÉlÉÉæwÉkÉÏlÉÉÇ   
      iÉÑ ArÉÇ xÉëÉåiÉÈ LuÉ | mÉÑwmÉÉhÉÉÇ xÉqÉ×Î®È xÉÑaÉÎlkÉÈ cÉ qÉlÉÉåWûUÉ | xÉuÉï§É WûUÏÌiÉqÉÉ | zÉÑ®mÉrÉÉïuÉUåhÉ   
      rÉÑ£üxrÉ AxrÉ mÉëSåzÉxrÉ MåüuÉsÉÇ mÉëM×üÌiÉÈ LuÉ lÉ ÌuÉÌuÉkÉÉ qÉlÉÉåWûUÉ cÉ mÉëirÉÑiÉ xÉÇxM×üÌiÉÈ AÌmÉ | 
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I. LMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉLMümÉSålÉ E¨ÉUiÉ    :  

  Answer in one word:                ½ x 3 = 1 ½  

i. Måü AÂhÉÉcÉsÉmÉëSåzÉxrÉ ¥ÉÉiÉÑqÉç EixÉÑMüÉÈ AÉxÉlÉç ?  

ii. AÂhÉÉcÉsÉxrÉ pÉÔÍqÉÈ MæüÈ xÉÑzÉÉåÍpÉiÉÉ ? 

iii. mÉrÉïOûlÉÉÍkÉMüÉUÏ MåülÉ qÉÉkrÉqÉålÉ NûÉ§ÉÉhÉÉÇ ÎeÉ¥ÉÉxÉÉÇ zÉqÉrÉÌiÉ ?   
 

II.    mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :mÉÔhÉïuÉÉYrÉålÉ E¨ÉUiÉ  :    
Answer in complete sentence:        1 x 2 = 2 

i. AÂhÉÉcÉsÉÈ CÌiÉ lÉÉqÉ MüjÉqÉç AÉaÉiÉqÉç ? 

III. rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :rÉjÉÉÌlÉSåïzÉqÉç E¨ÉUiÉ  :    
Do as directed:                   ½ x 3 = 1 ½  

i. ‘uÉlÉxÉÇmÉSÉ’ CÌiÉ mÉSxrÉ ÌuÉzÉåwÉhÉÇ ÌMüqÉç ? 

ii.  ‘AÍpÉlÉlSlÉÇ pÉuÉiÉÉqÉç____’ CirÉÉÌSuÉÉYrÉå ‘pÉuÉiÉÉqÉç’ CÌiÉ xÉuÉïlÉÉqÉ MåüprÉÈ mÉërÉÑ£üqÉç ? 

iii. ‘AkÉÑlÉÉ’ CirÉjÉåï ÌMüqÉç AurÉrÉqÉç A§É mÉërÉÑ£üqÉç ?    

14. AkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉAkÉÉåÍsÉÎZÉiÉ----mÉ±²rÉxrÉ pÉÉuÉÉjÉïqÉç EmÉrÉÑ£ümÉSæÈ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |mÉ±²rÉxrÉ pÉÉuÉÉjÉïqÉç EmÉrÉÑ£ümÉSæÈ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |mÉ±²rÉxrÉ pÉÉuÉÉjÉïqÉç EmÉrÉÑ£ümÉSæÈ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |mÉ±²rÉxrÉ pÉÉuÉÉjÉïqÉç EmÉrÉÑ£ümÉSæÈ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |    
Rewrite the following explanations of the stanzas after completing them with appropriate words:   

  1 x 6 = 6 

A.A.A.A.   MüÉMüÈ M×üwhÉÈ ÌmÉMüÈ M×üwhÉÈ, MüÉå pÉåSÈ ÌmÉMüMüÉMürÉÉåÈ | 
   uÉxÉliÉxÉqÉrÉå mÉëÉmiÉå, MüÉMüÈ MüÉMüÈ ÌmÉMüÈ ÌmÉMüÈ || 
 

pÉÉuÉÉjÉïÈ pÉÉuÉÉjÉïÈ pÉÉuÉÉjÉïÈ pÉÉuÉÉjÉïÈ -rÉSÉ 1.  AÉaÉcNûÌiÉ iÉSÉ ÌmÉMüxrÉ qÉkÉÑUåhÉ xuÉUåhÉ ¥ÉÉrÉiÉå rÉSè qÉkrÉå MüÈ  
  2.  AÎxiÉ AlrÉjÉÉ ²rÉÉåÈ LuÉ uÉhÉïÈ 3.   pÉuÉÌiÉ | 

   
AÉ.AÉ.AÉ.AÉ. AÉcÉÉrÉÉïiÉç mÉÉSqÉÉS¨Éå mÉÉSÇ ÍzÉwrÉÈ xuÉqÉåkÉrÉÉ | 
 MüÉsÉålÉ mÉÉSqÉÉS¨Éå mÉÉSÇ xÉoÉë¼cÉÉËUÍpÉÈ || 
  
pÉÉuÉÉjÉïÈpÉÉuÉÉjÉïÈpÉÉuÉÉjÉïÈpÉÉuÉÉjÉïÈ -  ÍzÉwrÉÈ ÍzÉ¤ÉÉrÉÉÈ cÉiÉÑjÉÉïÇzÉÇ 1.    mÉëÉmlÉÉåÌiÉ | Ì²iÉÏrÉÇ cÉiÉÑjÉÉïÇzÉÇ xuÉxrÉ oÉÑ®åÈ xÉÉqÉjrÉåïhÉ 

sÉpÉiÉå | iÉ×iÉÏrÉÇ 2.   xÉqÉrÉå, AÎliÉqÉÇ pÉÉaÉÇ 3.    cÉ mÉëÉmlÉÉåÌiÉ |  
 

15.AkÉÉåÍsÉÎZÉiÉmÉ±²rÉxrÉ AluÉrÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |AkÉÉåÍsÉÎZÉiÉmÉ±²rÉxrÉ AluÉrÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |AkÉÉåÍsÉÎZÉiÉmÉ±²rÉxrÉ AluÉrÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |AkÉÉåÍsÉÎZÉiÉmÉ±²rÉxrÉ AluÉrÉå ËU£üxjÉÉlÉÉÌlÉ mÉÔUÌrÉiuÉÉ mÉÑlÉÈ ÍsÉZÉiÉ |    
     Complete and rewrite the prose-order-renderings of the following two verses:                    ½ x 6 = 3 

    
A.A.A.A.  MümÉÏlÉÉÇ qÉåSxÉÉ SÉåwÉÉå uÉÌ»ûSÉWûxÉqÉÑ°uÉÈ | 
 AµÉÉlÉÉÇ lÉÉzÉqÉprÉåÌiÉ iÉqÉÈ xÉÔrÉÉåïSrÉå rÉjÉÉ || 
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 AluÉrÉÈAluÉrÉÈAluÉrÉÈAluÉrÉÈ –  AµÉÉlÉÉÇ uÉÌ»ûSÉWûxÉqÉÑ°uÉÈ 1.    MümÉÏlÉÉÇ qÉåSxÉÉ rÉjÉÉ 2.    iÉqÉÈ (iÉjÉÉ)  
 3.     AprÉåÌiÉ |  

 
AÉ.AÉ.AÉ.AÉ.  Ax§ÉÇ oÉë¼ÍzÉUÉå rÉ§É mÉUqÉÉx§ÉåhÉ uÉkrÉiÉå | 
 xÉqÉÉÈ ²ÉSzÉ mÉeÉïlrÉxiÉSè UÉ·íÇ lÉÉÍpÉuÉwÉïÌiÉ || 

 
AluÉrÉAluÉrÉAluÉrÉAluÉrÉÈ –  rÉ§É oÉë¼ÍzÉUÈ 1.    mÉUqÉÉx§ÉåhÉ uÉkrÉiÉå, 2.    ²ÉSzÉxÉqÉÉÈ iÉSè UÉ·íÇ lÉ 

3.    |   
 

16. UåZÉÉÌƒ¡ûiÉUåZÉÉÌƒ¡ûiÉUåZÉÉÌƒ¡ûiÉUåZÉÉÌƒ¡ûiÉ----mÉSÉÌlÉ AÉkÉ×irÉ mÉëzlÉÌlÉqÉÉïhÉÇ MÑüÂiÉ |mÉSÉÌlÉ AÉkÉ×irÉ mÉëzlÉÌlÉqÉÉïhÉÇ MÑüÂiÉ |mÉSÉÌlÉ AÉkÉ×irÉ mÉëzlÉÌlÉqÉÉïhÉÇ MÑüÂiÉ |mÉSÉÌlÉ AÉkÉ×irÉ mÉëzlÉÌlÉqÉÉïhÉÇ MÑüÂiÉ |    
     Frame questions on the basis of the underlined words:      1 x4 = 4 

 

 1. xÉÇuÉixÉUå wÉQèûwÉQèûwÉQèûwÉQèû GiÉuÉÈ pÉuÉÎliÉ | 
 2. qÉlÉxÉÈqÉlÉxÉÈqÉlÉxÉÈqÉlÉxÉÈ ÌlÉaÉëWûÈ uÉÉrÉÉåÈ CuÉ SÒwMüUÈ | 
 3. UÉ¥ÉÈ lÉå§ÉSÉlÉÌlÉ¶ÉrÉÇ ¥ÉÉiuÉÉ AqÉÉirÉÉÈAqÉÉirÉÉÈAqÉÉirÉÉÈAqÉÉirÉÉÈ ÌuÉwÉhhÉÉÈ ApÉuÉlÉç | 
 4. MüÉqÉxrÉ lÉÉzÉÉrÉ CÎlSìrÉÉÍhÉCÎlSìrÉÉÍhÉCÎlSìrÉÉÍhÉCÎlSìrÉÉÍhÉ uÉzÉå MüUhÉÏrÉÉÌlÉ |  
 

17.  bÉOûlÉÉ¢üqÉÉlÉÑxÉÉUqÉç AkÉÉåÍsÉÎZÉiÉbÉOûlÉÉ¢üqÉÉlÉÑxÉÉUqÉç AkÉÉåÍsÉÎZÉiÉbÉOûlÉÉ¢üqÉÉlÉÑxÉÉUqÉç AkÉÉåÍsÉÎZÉiÉbÉOûlÉÉ¢üqÉÉlÉÑxÉÉUqÉç AkÉÉåÍsÉÎZÉiÉ----uÉÉYrÉÉÌlÉ mÉÑlÉÈ ÍsÉZÉiÉ |uÉÉYrÉÉÌlÉ mÉÑlÉÈ ÍsÉZÉiÉ |uÉÉYrÉÉÌlÉ mÉÑlÉÈ ÍsÉZÉiÉ |uÉÉYrÉÉÌlÉ mÉÑlÉÈ ÍsÉZÉiÉ |  
     Rewrite the following sentences in the sequential order:                 ½ x 8 = 4 

 
 1. rÉÑwqÉÉÍpÉÈ LuÉ qÉå zÉÉåpÉÉ AiÉÈ rÉÔrÉÇ xÉuÉåï qÉqÉ ÌmÉërÉÉÈ | 
 2. iÉå xÉuÉåï AÉiqÉlÉÈ qÉWû¨uÉÇ mÉëÌiÉmÉÉSrÉliÉÈ AlrÉÉålrÉÇ ÌlÉlSÎliÉ | 
 3. LMüSÉ mÉëpÉÉiÉå UÉeÉWÇûxÉÈ UÉeÉWÇûxÉÏ cÉ xÉUxiÉÏUå pÉëqÉiÉÈ | 
 4. ÌlÉlSÉÇ ´ÉÑiuÉÉ MüÉMüÈ iÉ§ÉÉaÉirÉ AÉiqÉÉlÉÇ mÉëzÉÇxÉÌiÉ | 
 5. AiÉÈ MüsÉWÇû ÌuÉWûÉrÉ mÉUxmÉUÇ qÉÉåSkuÉÇ eÉÏuÉlÉÇ cÉ UxÉqÉrÉÇ MÑüÂkuÉqÉç | 
 6. AliÉå mÉëM×üÌiÉqÉÉiÉÉ iÉ§ÉÉaÉirÉ MüjÉrÉÌiÉ | 
 7. iÉÉæ MüÉMüxrÉ kÉuÉÌlÉÇ ´ÉÑiuÉÉ iÉxrÉ ÌlÉlSÉÇ MÑüÂiÉÈ |  

8. iÉSÉ oÉMüÈ qÉrÉÔUÈ cÉ ¢üqÉålÉ iÉ§É AÉaÉcNûÎliÉ | 
 

18. mÉëxÉ…¡ûÉlÉÑxÉÉUÇ zÉÑ®qÉç AjÉïÇ18. mÉëxÉ…¡ûÉlÉÑxÉÉUÇ zÉÑ®qÉç AjÉïÇ18. mÉëxÉ…¡ûÉlÉÑxÉÉUÇ zÉÑ®qÉç AjÉïÇ18. mÉëxÉ…¡ûÉlÉÑxÉÉUÇ zÉÑ®qÉç AjÉïÇ    qÉåsÉÌrÉiuÉÉqÉåsÉÌrÉiuÉÉqÉåsÉÌrÉiuÉÉqÉåsÉÌrÉiuÉÉ    ÍsÉZÉiÉ |ÍsÉZÉiÉ |ÍsÉZÉiÉ |ÍsÉZÉiÉ |    
                    Match the following.                      ½ x 6 = 3   
 1. WåûrÉqÉç    Mü. oÉWÒûqÉÔsrÉqÉç 
 2. AuÉkÉÏUhÉÉ   ZÉ. qÉÉaÉåï 
 3. AlÉuÉkrÉqÉç   aÉ. irÉÉerÉqÉç 
 4. S¤ÉÈ    bÉ. AmÉqÉÉlÉÈ 
 5. AlÉbÉïqÉç   Xû. AÌlÉlSlÉÏrÉqÉç 
 6. mÉÍjÉ    cÉ. MÑüzÉsÉÈ 


